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http://farbe.li.tu-berlir1l.de'hek5/hd<5IOnf.txt /.ps only vector graphic VG; stgrt output
see separate images of this pagg://farbe.li.tu-berlin.de/hek5/hek5.htm

s: 0, 125, 250, 375, 500, 625, 750, 875, 1 =
Three, 5 and 9 colour steps for visual evaluation Gréen GOOW — Green G16w = White Wq‘ocIrUBLOG u=I50/10g(S)] logr/¥y)+50, =20, Yy =100

GOOw  G08w  Gléw GOoOw  GO4w Glaw Giléw GOOW GOZW G14w
Three, 5 and 9 colour steps, numeric specification Z 872

000 [e08=0,.| 1,00 0,00 1e04=0,.
0,00 100 [ 000 o=

Three, 5 and 9 colour steps, numeric calculation example

0, 135, 300, 450, 600, 700, 800, 900, 1000 i: 0, 115, 202, 299, 390, 538, 690 84
Three, 5 and 9 coloLr steps, produced visual linearization Green GOOw — Green G16w = %iPBBLOG u=[50/log(5)] logl¥/Yy)+50, Yn =4, Yy

GOOw  GO8w  Gléw GOOw  GO4w GOOw  GO2w Glow Glaw Gléw

s 0 125, 250, 375, 500, 625, 750, 875, 1 = = =
Three, 5 and 9 colour steps for visual evaluation Green GOOwW — Green Gi6w = White W Q uBLOG U =[50/l0g(S)] log(¥/Yyy)+50, Yy =4, Yy =20, Yy =100

GOOw  G08w  Gléw GOoow  GO4w Glew GOo6w G10w Gl4w__ Gléw
Three, 5 and 9 colour steps, numeric specification 127 ? 37? 50? 62? 75? 87? 100

1,00 0,00 |e04=0, . ) =0, . . =0, . 1,00
1,00 0,00 = ; c3=e24* c5=ed6* 7= 1,00

1 0.230 | O. 1 0.143 [ 0.230 | 0.3 0 0.
0, 108, 270, 435, 600, 710, 820, 928, 1000 i: 0, 143, 230, 314, 390, 524, 658, 787, = = =i
Three, 5 and 9 colour steps, produced visual linearization ~Green GObw — Green G16w = White W 42008 0c,u=[50/l0g(5)] log(¥ +Yu=20, Yw =100

GOOW Go8w  Gléw GOOw  GO4w Glaw Gléw Goow  GO2w GOo6w Glow Glaw Gléw

d 9 colour steps. greu=0.500, expu=1.00

sd'/ 4" TUOISH8U/SHBY-TO0THZ0Z “uonensibal gnL &J

ndino yuud Jo Aejdsip Jo Juswainseaw pue uoien[eAs Joj uoijeddde

TUB-test chart hek5; adj & sep grey samples for visual intervall scaling, evaluation of the seri Qy

G_W with 3, 5 and ) steps out, ugb’*)1 0& experlmental surround mean Grey U=N08w
T




